Page 165 - CUMULATIVE REVIEW  ( Ch. I-2)
Li-ld=-7)Q+6==-1(-3)+6=-19) +6=-9+6=-3

2 =) H (C1F | =2 - -2+ H =2 |11 =2-11= -9

JR2Me+y) - Hy-z2)=2x+2y~y+Ix=hHw -y

fal+ |6 _|=8] +128 62
la + b| |-6 + 2| -4

5.|letx = tixhe,inhours, driving 55 mih; 5 — z = time, in hours, driving 30 mi/h;
30(6 — x) + 55x = 250; 150 ~ 30x + 55a = 250; 26x = 100; x = 4; he spent 4 h at
53 mi/h
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12, (1) a + (b —a) =a + (b + (—a)) (Def. of subtr),
2) a+(b—-—a)=a+ ((—a) +b) (Comm. prop. of add.);
(3) a+(b—-a)=(c+ (—a) +b (Assoc. prop. of add.);
4 at+dB-a)=0+0b (Prop. of opposites);
B) u+{b—-ua)=0b (Ident. prop. of add.)
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ALGEBRA I
FINAL EXAM REVIEW
~ SEMESTERI

(Chapters 1 - 7)

** Calculators will NOT be used on the final exam **
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cum. review (ch. 4-7) pp. 348-349

=§;y—4==:2’-(x—(—3));2y—8=7x+14;7x—2y= -22

b=4;y=mx+4;0=m(6)+4;m=~g;y=f2x+4;3y=—2x+12;

2z + 3y = 12
mo Ao _5
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(72)=2x—(—1));4y+8=5.'r+5;550—-4y=3

Theslopeoft.heliner+y=5is-2;m=%;y—2=%(x—3);2y—4=x—3;

xr—2y=-1
3x—4y =10 6xr — 8y = 20, _ 1Ty = —1- % — A(—1) = 10: 32 = 6: 7 = 2
2 +3y= V6 +9y= 3 717y 1T,y 1; 3z — 4(-1) = 10; 3z 6,(; _f),
'y=%x—l 1
;x-—2(—x-—1)=4;x—x+2=4;2=4;nosolution

x—-2y=4" 2 N
x=7y_4_ _ _ A - — 3 = . =l- = 1 — 4
y=7x+4,y—7(7y 4) + 4,y =49y — 28 + 4,48y = 24,y 51 % 7(2) 4;
% = 1.(_11

2’ 2'2/)

Jan. 20, 2000



26. Let a = cost, in dollars, of an adult ticket, ¢ = cost, in doliars, of a child’s ticket;

2¢ + ¢ =20
a + 2c = 16’

an adult's ticket costs $8
26. f(g(2) =£(22) - 7P =f(-3) =) =4-@)P°=4-9=-5

c=20—20;a+2(20—-2a)=16;a+40—4a=16;-—3a=—24;a.=8;

gf2) =gt - @) =gd -4 =g0) =120 -7 =]|-7]|=7
_ ~4-2 _-6_ 3 _ 3 . __3 i ol By 2 O
B m= g = = Ty e = sz b h(D) = ~2() +b=—4 3
3 B oy 3y 5 _ _26_ _
h(a:)=—§x—§;h(1)—- 2(r) : = 13

28.

not a function

Pages 348349 « CUMULATIVE REVIEW (6{1 4-1)
| 62— 8x+2-5x -z +6=x"—-9x+8 2. —12a%° 3. x°y'z"
8y’ +20y — 6y~ 156=8y*+ 14y —15 5. Cx— 3)(x —4)
x(Bx —2) +2yBx — 2) = (@ + 2y)8x — 2) 17..(4a — 3b)(4a + 3b)
Sy (y* -2y - 3) =3y -3y + 1)
-z +1)=0zxz=40rx=—-1;{-1, 4}
10. 2% — 10z + 25 = 0; (x — 5)* = 0; x = 5; {5}
11, 2° =92;2° - 92 = 0, 2(x* - 9 =0 2(x - )z + 3) =0;x =0,z = 3 or
{_370)3} =3
12 ¥ +y <20;9° +y—-20<0;(y+ B}y — ) < 0;{y: -6 <y < 4}
13. Let the integersben andn + 2;n(n + 2) = 9% n® + 2n — 99 = (;
(m —9)(n + 11) = 0;n = 9 or n = —11; the numbers are 9 and 11 or —11 and -9
14. Let x = the length, in cm, of the hypotenuse; (x — 8)* + (x — 1)* = z%
22— 16x+64 + 2 - 2x + 1 = 2% 2* — 182 + 66 = 0; (x — 13)(x — 5) = 0;
z = 5 (reject sincex > 8) or xr = 13; 13 cm-
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- Hx+ 2 12x 3z -3 2
1 1 y+2 1
19- + = S e
2y+2) yly+2) 2y(y+2) 2
1
1=t _mi-1_ _m-Dm+1)_m+1_ m+1
20. I " m-m: —mm-1) -m  m
— =1

m



21.

22.

23.

24.

27.

28,
29.

30.

31.

82.

33.
34.

35.

36'

87.

z 1 = 2 )
x+2 z+1 (x+2=x+1)
x? = 4;x = -2 (reject) or x = 2; {2}
y+Vy-1=7Vy-1=7-yy-1=49 - 14y + y% y* - 15y + 50 = 0;
(v - 5)(y — 10) = 0; ¥ = 5 or y = 10 (reject); {5}

Let x = dollars invested at 5%; 0.05x + 0.08(4000 — x) = 284; —0.03x + 320 = 284;
=0.03xz = —36; x = 1200; he invested $1200 at 5% and $2800 at 8%

zx+1)-x+=2a’+x-x-2=2

Vs 25, 2\/E—§=3¥ 26. 21 + 28VE - 3V6 — 20 = 1 + 25V5
2 Vi+V3_2V7+VE) _Vi+ V3

Vi3 Viiva  1-3 2

©@iV2)(iV6) = -2V12 = -4V3

8-2 3-2 _9-12i-4_6-12i _ 5 12,

3+2 3-2i  08+4 1 1B 13
Let N = 0.154; then 100N = 15454 and 99N = 15.3;N=%§=%

9 3\
4x2—12x+7=0;4(x2—3x)=—7;4(m2—3x+2)=-7+9;4(x-—§)=2;
( 3)’_1 3_ V2 3. V2 [3+V2

-sl=sx-c=x—Fip=5+ =
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" o c12EVIM 180 _ 1226 _ ~2xi [ 21,
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D=36-12k; 36 — 12k < 0,36 < 12k; k > 3
4z -3 —6(4x - 3)+b5=0;letz=4x — 3,22 - 62+ 5= 0;

(z-—5)(z—l)=0;z=50rz=1;x=z:3;x=20rx= I; {1, 2}
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D= {reai numbers};—ibz = g =4,f4) =16 -32+ 9 = -7;sincea > 0, -7 is the
minimum;R={y:y2-7};0=x’—8x+9;z=§£—g4—:—3§=4i \/'i_';zeros

are4+\/';and4-\/’?

Let the numbers be x and (x + 6), and let their product be p{z) = x(x + 6) =
x? + 6x; minimum value of p occurs when x = _,g = ~3; p(-3) = -3(3) = -9;

since a > 0, ~9 is the minimum product



